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QUESTION 1 (10 marks)

1. (@) Theremainder when P(x)

is 20. Find the value of k .

(b) Determine the zeros of P(x) = x(x3 -3 - 4x) and hence sketch

its

= x* + 13x + k is divided by (x + 3)

Japhs What is the multiplicity of the root at x = 0?

(c) If «a,p, andy are the roots of X +8l—7= 0, find the value of:

) a+p+y
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@ @ P = x*+7¢~bx~b is divided by AX)=x—1.

®).

Show by long division that
P() = (x—= 1)’ +8x~Db +8) + (-2b +8). 2 ,
(i) Find the value of the constant ‘b’ so that P(x) is divisible -
by A(x) 1
QUESTION 2 (15 marks)
(a)
) (i) Find £BPR giving reasons. 2
(i) Hence or otherwise find £PQR giving reasons. 1
! (c) If cos® = %—and 0 is acute, find the exact values of
In the diagram above, ABCD is a cyclic quadrilateral. BC is produced to E. () cos20 2
£BCA = ZDCE . 0 , 2
: i @iy tan 7
() Give areason why /BDA = ZBCA
(1) Hence showthat BA=BD .
: 5
E;ﬂ;nsi;irz Course, Assessment Task 3 28 August, 2008 page 4 : Eﬁmfm Gouree, Assessment Taske3 9 At 2000 ™




(d)  Solve sin6=9si 2 ° o
iN"6=9sin6 + cos@ +4 for 0°<0 <360 3 (b) Four married couples are to be seated at a round table for dinner.

(i Inhow many different ways can the people be seated around

a table? 1

“(e) Write in gene i ;
general form the solution to the equation (i) If each married couple is to be seated together, in how many

. o - 1
sin(6+30) = 5" 3 ways can this be done? 2
bogga s b Vgt
(c). The letters of the word MA?HEMA*!CS are to be arranged in a
QUESTION 3 (15 marks) straight line. How many ways are there if:
(@) Express in factorial form: (i) There are no restrictions at all? 1
M °c, ] _
i)  °P, 1 ! (i) The word is to commence and end with the same letter? 2

EXAMINATION CONTINUES ON NEXT PAGE
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{d) () Inhow many ways can 8 stories be arranged in order to form a

book?

(ify What is the probability that the longest story will be first and the

shortest story will be last? 1

(iif) What is the probability that the longest and shortest stories will be

next to each other? 2

(e) In an examination paper, there are 5 questions on calculus and 6

on the other sections of the course. In how many ways can 8 questions

be chosen if
(i) exactly 4 questions are to be Calculus questions. 1
(if) at most 4 questions are to be Calculus questions. 1

END OF EXAMINATION
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